John XXIII College



YEAR TWELVE 2025

2025

25 949 12 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Sunday 29th December 2024 Using "J7M7" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$8.00, if placed on or before the return date of Sunday 29th December 2024.

Orders placed after the return date will incur a late fee of up to \$10.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



	\checkmark			
Item	Item	Qty	Unit	Total
No.	Regd	Read	Price \$	Amount \$

YEAR TWELVE

Digital texts:

Description

Office Use

Students can access their digital texts by logging into their MyConnect2 account after purchase. We strongly recommend using your school email address to log in before the school year begins.

Further information on MyConnect2 and how to login to the students account can be found at:

https://campion.com.au/find-my-school/

Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you change your mind.

We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

COMPULSORY ITEMS FOR ALL STUDENTS

MINIMUM REQUIREMENTS OF THE YEAR 10-12 STUDENT DEVICE PROGRAM

- · Each student must bring a charged personal laptop device to school each day.
- Only one device per student will be able to be connected to the College Wi-Fi network.
- Excluded devices include smartphones, Android devices and Chromebooks.

Retain computer device from previous year

or

Windows Laptop
Operating system - Windows 10 or 11.

- 12-inch Touch Screen.
- Processor Intel Core i5.
- Memory: 8 GB RAM.
- Storage: 128GB SSD/FLASH.
- Webcam with a Self-facing camera (a front facing camera is optional but encouraged).
- Wi-Fi 802.11ac support for 5GHz.
- · Virus scanner Windows Defender (comes free with Windows).

Recommended minimum requirements for new devices are:

- Protective case a protective hard case can be added to some laptops.
- · Laptop sleeve or carry bag is recommended if a protective case is not available.
- Comprehensive warranty and accidental damage protection is recommended.
 Apple Macintosh
- Operating System Mac OS Ventura.
- 13-inch Screen.
- Processor Intel Core i5.
- · Memory: 8 GB RAM.
- Storage: 128GB SSD/FLASH.
- · Webcam with a Self-facing camera.
- · Wi-Fi 802.11ac support for 5GHz.
- Virus scanner.
- Protective case a protective hard case can be added to some devices.
- Laptop sleeve or carry bag is recommended if a protective case is not available.
- · Comprehensive warranty and accidental damage protection is recommended.

For additional information regarding devices please follow this link: https://www.johnxxiii.edu.au/view/for-families/student-devices

John XXIII College Diary - Available from the College.

	RELIGION & LIFE ATAR				
P55442	Display Book A4 20 Pocket Black Refillable	1	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	2	1	1.65	1.65
P55098	Lever Arch File A4 70mm PE Black	3	1	8.40	8.40
	RELIGION & LIFE GENERAL				
P55442	Display Book A4 20 Pocket Black Refillable	4	1	2.15	2.15
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	5	1	1.65	1.65
	DRAMA ATAR				
P07810	Mother Courage and Her Children (Play) [Brecht, Bertolt Trans by Kushner,Tony]	6	1	24.99	24.99
P05908	When the Rain Stops Falling (Currency Play) [Bovell]	7	1	24.99	24.99
P55097	Lever Arch File A4 75mm Board	8	1	5.40	5.40
	ACCOUNTING & FINANCE ATAR				
P35589	Creelman Exam Questions Accounting & Finance ATAR 3&4 2025 [John Cannon]	11	1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2025				

Page 2

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P35925	WA Accounting and Finance Yr12 ATAR Practical Guide U3 2025 [Timothy Coveney]	12		1	95.00	95.00
P35926	WA Accounting and Finance Yr12 ATAR Practical Guide U4 2025 [Timothy Coveney]	13		1	95.00	95.00
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	14		2	1.25	2.50
P55097	Lever Arch File A4 75mm Board	15		1	5.40	5.40
P51366	Whiteboard Markers Eco Micador Pk 4	16		1	6.65	6.65
	BIOLOGY ATAR					
P19689	Biology WA ATAR 3&4 (Print & Digital) [Skirving et al]	20		1	102.95	102.95
P35590	Creelman Exam Questions Biology ATAR 3&4 2025 [Amanda Huke] If ordered online, will be delivered in bulk to the school. Due approx. March 2025	21		1	50.00	50.00
P33208	WA Biology Yr12 ATAR Study Guide 3E [Peter Walster]	22		1	59.00	59.00
P51665	Whiteboard Marker Artline Supreme Black	23		1	2.25	2.25
	CHEMISTRY ATAR					
P05724	WA ATAR Essential Chemistry 3&4 (includes 2Yr Access Code) [Nick Lucarelli]	26		1	89.95	89.95
P35592	Creelman Exam Questions Chemistry ATAR 3&4 2025 [Lyndon Smith]	27		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2025					
P30300	WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David Proctor]	28		1	59.00	59.00
	Optional					
	ECONOMICS ATAR Revise Online \$41.80 - Online revision for Economics ATAR will be added to Fe Online will be provided on Day 1 of the course.	es foi	r students in	this course.	Access to	Revise
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp] Due approx. December 2024	30		1	90.00	90.00
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	31		2	1.25	2.50
P55097	Lever Arch File A4 75mm Board	32	$\overline{\Box}$	1	5.40	5.40
P51366	Whiteboard Markers Eco Micador Pk 4	33		1	6.65	6.65
	ENGLISH ATAR					
P15103	Dry, The [Jane Harper]	34		1	22.99	22.99
P35527	Good Answers ATAR English 2025 (Term 2) [ETAWA] If ordered online, will be delivered in bulk to the school.	35		1	31.50	31.50
P00369	Due approx. May 2025 Secret River, The [Kate Grenville]	36		1	22.99	22.99
P31361	WACE English Yr 11&12 ATAR Coursebook & Exam Guide [Rachael Sarahs]	37		1	65.95	65.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	38		2	1.65	3.30
	ENGLISH FOUNDATION					
P52061	Binder A4 2D 25mm Zipper Blue with Tech Case Marbig	39		1	12.45	12.45
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	40		2	1.65	3.30
	ENGLISH GENERAL					
P36019	Prince of Afghanistan [Louis Nowra]	41		1	17.99	17.99
P52032	Binder A4 2D 25mm Zipper Black with Tech Case Marbig	42		1	12.45	12.45
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	43		2	1.65	3.30
D52000	ENGINEERING STUDIES ATAR	4.4	_	4	44.05	44.05
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	44		1	41.95	41.95
P50575	This item may have been purchased for science or retained from previous years Display Book A4 40 Pocket Insert Cover Black Non-Refillable	s. 45		1	5.55	5.55
P50373	Exercise Book A4 128 Page 8mm with Margin Spirax #110	45 46		1	2.15	5.55 2.15
. 00020	Exercise book A4 120 r age offill with wargin opilax #110	40		ı	۷.13	2.10

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	FOOD SCIENCE & TECHNICI OCY CENEDAL					
	FOOD SCIENCE & TECHNOLOGY GENERAL Please provide a 2.2L plastic food container. Example: Sistema Klip It Plus Rec	tangle	2.2L			
	FRENCH ATAR					
F67722	John XXIII Language Perfect Year 12 French	47		1	39.27	39.27
D40004	(Please provide payment to Campion. School will distribute access details)	40		4	00.00	00.00
P16664	Collins French Dictionary and Grammar 8E [Collins Dictionaries]	48	Ш	1	32.99	32.99
P52061	Retain from previous year Binder A4 2D 25mm Zipper Blue with Tech Case Marbig	49		1	12.45	12.45
P55158	Binder A4 2D 231111 Zipper Bide with Tech Case Marbig Binder Book A4 128 Page 8mm Premium with Margin Spirax	50		2	2.15	4.30
P52025	Pocket Plastic A4 11 Hole Pkt 10 Heavy Weight 70 microns	51		2	8.15	16.30
	• •	0.	_	_	0.10	10.00
Doctoo	GEOGRAPHY ATAR	50			07.00	07.00
P35529	Student's Guide to the 2025 Yr 12 ATAR Geography Examination [D. Roberts, R. Whitty]	52		1	37.90	37.90
	If ordered online, will be delivered in bulk to the school. Due approx. April 2025					
P13735	New Geographer's Toolkit, the [Norman J. Snell]	53		1	47.50	47.50
	Retain from previous year. Only new students to purchase.					
P31940	WA ATAR Geography Units 3&4 3E [K. Bell]	54		1	76.90	76.90
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	55		3	1.25	3.75
P56353	Protractor 10 cm 180 4" Half Circle	56		1	0.45	0.45
	GEOGRAPHY GENERAL					
P30106	WA ATAR Geography Units 1&2 2E [A. Griffin, T. Smith]	57		1	76.90	76.90
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	58		3	2.15	6.45
P56353	Protractor 10 cm 180 4" Half Circle	59		1	0.45	0.45
	HUMAN BIOLOGY ATAR					
P35595	Creelman Exam Questions Human Biology ATAR 3&4 2025 [Susan Fahey]	63		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2025					
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	64		1	91.95	91.95
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	65		1	59.00	59.00
P04787	Dot Point WACE Human Biology Year Units 3&4 [Humphreys]	66		1	49.95	49.95
	Optional					
	ITALIAN ATAR					
F67723	John XXIII Language Perfect Year 12 Italian	69		1	39.27	39.27
D40044	(Please provide payment to Campion. School will distribute access details)	70			00.00	00.00
P16641	Collins Italian Dictionary and Grammar 4E [Collins Dictionaries]	70		1	32.99	32.99
P30018	Retain from previous year. Only new students to purchase.	71		4	GE OF	GE OF
F30010	Parliamo Italiano Insieme 2 SB (Print & Digital) 2E [Gianna Pagni et al]	71		1	65.95	65.95
P52064	Retain from previous year. Binder A4 2D 25mm Zipper Lime with Tech Case Marbig	72		2	12.45	24.90
P55158	Binder Pook A4 128 Page 8mm Premium with Margin Spirax	73		2	2.15	4.30
P52025	Pocket Plastic A4 11 Hole Pkt 10 Heavy Weight 70 microns	74		2	8.15	16.30
	JAPANESE ATAR					
F67724	John XXIII Language Perfect Year 12 Japanese	75		1	39.27	39.27
	(Please provide payment to Campion. School will distribute access details)		_			
P07938	Kodansha's Furigana Japanese Dictionary (H/B) [Masatoshi Yoshida]	76		1	100.00	100.00
P52100	Binder A4 2D 25mm Zipper Red with Tech Case Marbig	77		1	12.45	12.45
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	78		1	2.10	2.10

Page 4

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	LITEDATURE ATAR					
P00272	LITERATURE ATAR Complete Poems [Emily Dickinson]	79		1	49.99	49.99
P12111	Four Major Plays (Inc Dolls House, Ghosts) (OWC) [IBSEN]	80		1	22.95	49.99 22.95
P35528	Good Answers ATAR Literature 2025 (Term 2) [ETAWA]	81		1	31.50	31.50
1 00020	If ordered online, will be delivered in bulk to the school. Due approx. May 2025	01		'	31.50	31.30
P09123	Insight Text Guide: The Outsider [Nelson] Optional	82		1	24.95	24.95
P11866	New Selected Poems 1966-1987 [Seamus Heaney]	83		1	32.99	32.99
P04483	Outsider, The (Modern Classics) [Albert Camus]	84	<u> </u>	1	16.99	16.99
P06937	That Deadman Dance [Kim Scott]	85	<u> </u>	1	22.99	22.99
P10016	Translations [Brian Friel]	86		1	23.99	23.99
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	87	5	3	1.65	4.95
	MATERIALS DESIGN TECHNOLOGY: TEXTILES GENERAL					
	A fee of \$60 will be assessed for the provision of fabric and patterns used for	projects	in this course.			
EA02879	Nelson Textiles & Design Prelim/HSC (Digital 2Yr API) 2E	89	DIGITAL ITEM	1	54.95	54.95
	Students who purchased this product in Year 11 do not need to purchase it ag	gain in Y	'ear 12.			
P50404	Visual Art Diary A4 60 Sheet Hardcover 125gsm	90		1	19.50	19.50
	Retain from previous year. Only new students to purchase.					
	MATERIALS DESIGN & TECHNOLOGY: WOOD GENERAL					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	91		1	13.70	13.70
P50319	Eraser Staedtler Rasoplast 526B30	92		1	1.50	1.50
P55538	Exercise Book A4 48 Page Unruled Blank	93		1	1.30	1.30
P56166	Pencil (HB) Copperplate	94		1	0.55	0.55
	MATHEMATICS APPLICATIONS ATAR					
	Mathspace registration (Charged as part of School Resource fees - \$25.50)					
P01653	WA Applications Year 12 Workbook: Unit 3 [J Klup]	96		1	45.00	45.00
P01623	WA Applications Year 12 Workbook: Unit 4 [J Klup]	97		1	45.00	45.00
P03539	WA Math Applic. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	98		1	59.00	59.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	99		1	281.95	281.95
	Retain from previous year. Only new students to purchase.					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	100		1	41.95	41.95
	Retain from previous year. Only new students to purchase.					
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	101		6	2.10	12.60
P56414	Ruler 300mm Plastic Clear	102		1	0.75	0.75
	MATHEMATICS ESSENTIALS GENERAL					
D.10000	Mathspace registration (Charged as part of School Resource fees - \$25.50)					
P13603	Nelson AC Senior Maths Essentials 12 (Print & Digital) 2E [Thomson & Binns	-		1	87.95	87.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	106		1	41.95	41.95
	Retain from previous year. Only new students to purchase.					
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	107		6	2.10	12.60
P56414	Ruler 300mm Plastic Clear	108		1	0.75	0.75
	MATHEMATICS FOUNDATION Methodogogogogogogogogogogogogogogogogogogo					
DESOOO	Mathspace registration (Charged as part of School Resource fees - \$25.50)	400		4	44.05	44.05
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	109		1	41.95	41.95
DE 40 · ·	Retain from previous year. Only new students to purchase.					
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	110		5	2.10	10.50
P56414	Ruler 300mm Plastic Clear	111		1	0.75	0.75

MATHEMATICS METHODS ATAR

Mathspace registration (Charged as part of School Resource fees - \$25.50)

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P19016	WA Math Methods Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	114		1	59.00	59.00
P02233	WA Math Methods Yr12 Textbook (Revised Edn) [O. T. Lee]	115		1	85.00	85.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	116		1	281.95	281.95
	Retain from previous year. Only new students to purchase.					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	117		1	41.95	41.95
	Retain from previous year. Only new students to purchase.					
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	118		6	2.10	12.60
P50128	Mathaid 4 & Proliner (Formulae) (Green)	119		1	29.95	29.95
P56414	Optional Ruler 300mm Plastic Clear	120		1	0.75	0.75
	MATHEMATICS SPECIALIST ATAR					
	Mathspace registration (Charged as part of School Resource fees - \$25.50)					
P11744	WA Math Special. Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee]	123		1	59.00	59.00
P17225	WA Math Specialist Yr12 ATAR Textbook (Rev Edn) [O. T. Lee]	124	_	1	85.00	85.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	125	_	1	281.95	281.95
	Retain from previous year. Only new students to purchase.		_			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	126		1	41.95	41.95
	Retain from previous year. Only new students to purchase.					
P51941	Graph Book A4 96 page 10mm Grid Squares Spirax	127		6	2.10	12.60
P50128	Mathaid 4 & Proliner (Formulae) (Green)	128		1	29.95	29.95
	Optional					
P56414	Ruler 300mm Plastic Clear	129		1	0.75	0.75
P16142 P55698	Compulsory: 1x portable SOLID STATE DRIVE, 500GB minimum capacity. College recommends 'Samsung T5 Portable SSD 500GB'. Drives should be hardy and/or housed in a case for protection. Compulsory: 1x SD card for use with digital cameras, 32GB minimum capacity. College recommends 'SanDisk Extreme Pro 32GB SDHC UHS-I'. Due to their size, cards should be kept in the same case as their solid state driv WA Media Key Terms & Concepts 3E [Vincent Donnelly, Vanessa Peters] Headphones Koss UR10 (Any headphone brand is acceptable and should be brought to all classes or st	ve. 130 131		1 1	38.50 45.15	38.50 45.15
	(Any neauphone brand is acceptable and should be brought to all classes or st	orea iri	THE CIASSION	111)		
	MODERN HISTORY ATAR Students are to retain the HTAWA Study Guide Part 1 from Year 11. Any stude	ant who	ioins the Mo	dern Histori	, course in	2024 will
	be required to purchase the study guide at \$25. This will be added to your school	ool fees				
P04623	Nelson Modern History AC: Russia & the Soviet Union [Ken Webb]	133		1	68.95	68.95
P04610	Nelson Modern History AC: Struggle for Peace Middle East [Bickerton & Taylor			1	57.95	57.95
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	135		2	1.25	2.50
P55097	Lever Arch File A4 75mm Board	136		1	5.40	5.40
	Optional					
	MUSIC ATAR					
P55709	Dividers Index A4 5 Tab (Board)	137		1	1.10	1.10
P55101	Lever Arch File A4 70mm PE Red	138		1	8.40	8.40
P50444	Music Book A4 96 Page Ruled & Staved Spirax 244	139		1	2.55	2.55
	PHYSICAL EDUCATION STUDIES ATAR					
P35599	Creelman Exam Questions Physical Education ATAR 3&4 2025 [Toby Lewis]	140		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2025					
P06054	WA Physical Education Studies: A Resource for Yr 12 ATAR [M Heberle, C Middleton]	141		1	93.95	93.95
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	142		1	1.30	1.30

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	DUVEICAL EDUCATION STUDIES CENEDAL					
P06053	PHYSICAL EDUCATION STUDIES GENERAL	440		4	00.05	00.05
P50450	WA Physical Education Studies: A Resource for Yr 12 General [R Gaujers]	143		1	82.95	82.95
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	144		1	1.30	1.30
	PHYSICS ATAR					
P35600	Creelman Exam Questions Physics ATAR 3&4 2025 [Jacob Marai]	148		1	50.00	50.00
	If ordered online, will be delivered in bulk to the school. Due approx. March 2025					
P13523	Dot Point WACE Physics Units 3&4 [Shadwick]	149		1	49.95	49.95
P00528	Pearson WA Physics 12 (SB Print & Digital)	150		1	98.65	98.65
P30305	WA Physics Yr12 ATAR Study Guide (Revised Edn) [Michael Lucarelli]	151	$\overline{\Box}$	1	59.00	59.00
	Optional		_			
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	152		1	41.95	41.95
	Retain from previous year		_			
	DOLUTICO O LAW ATAD					
D05004	POLITICS & LAW ATAR	454		4	50.00	50.00
P35601	Creelman Exam Questions Politics & Law ATAR 3&4 2025 [Stephen King] If ordered online, will be delivered in bulk to the school. Due approx. March 2025	154		1	50.00	50.00
P18523	WACE Politics & Law 3&4 Power/Acc/Rights 2E [PLEAWA]	155		1	93.95	93.95
P35671	WACE Politics & Law ATAR Yr 12 Exam Good Answers Guide 2024 [PLEAWA			1	51.50	51.50
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	157		2	1.25	2.50
P55097	Lever Arch File A4 75mm Board	158		1	5.40	5.40
	PSYCHOLOGY ATAR					
P34056	WA Psychology Yr12 ATAR Revision Series [Sonya Cerny]	161		1	59.00	59.00
P34032	WA Psychology Yr12 ATAR Study Guide 3E [Alana Wilson]	162		1	59.00	59.00
	VISUAL ARTS ATAR					
P77913	JOHN XXIII COLLEGE VISUAL ARTS PACK	163		1	167.00	167.00
	Retain from previous year. Only new students to purchase.	100		'	107.00	107.00
P52604	Clear Case A4 With Handle	164		1	14.95	14.95
P55707	Dividers Index A4 10 Tab PVC Multi/Coloured	165		1	3.55	3.55
P55098	Lever Arch File A4 70mm PE Black	166		1	8.40	8.40
P56328	Pocket Plastic A4 11 Hole Pkt 10	167		2	1.30	2.60
P50404	Visual Art Diary A4 60 Sheet Hardcover 125gsm	168		1	19.50	19.50
1 00+0+		100	ш	1	19.50	19.50
P77913	VISUAL ARTS GENERAL	160		1	167.00	167.00
F11913	JOHN XXIII COLLEGE VISUAL ARTS PACK	169		1	167.00	167.00
P52604	Retain from previous year. Only new students to purchase.	470		4	44.05	44.05
P55442	Clear Case A4 With Handle	170		1	14.95	14.95
	Display Book A4 20 Pocket Black Refillable	171		1	2.15	2.15
P50404	Visual Art Diary A4 60 Sheet Hardcover 125gsm	172		1	19.50	19.50
	THE FOLLOWING ITEMS ARE AVAILABLE IF REQUIRED - FILE					
P51587	Binder A4 2D Ring 25mm PE Navy Blue	173		1	5.45	5.45
P56319	Clear Case A4 335 x 245	174		1	2.90	2.90
P55322	Clipfolder A4 PVC Blue	175		1	4.80	4.80
P50510	Display Book A4 20 Pocket Mid Blue Refillable	176		1	2.15	2.15
P55494	Document Wallet FC Slimpick Green	177		1	1.10	1.10
P55097	Lever Arch File A4 75mm Board	178		1	5.40	5.40
	THE FOLLOWING ITEMS ARE AVAILABLE IF REQUIRED - GLU	ES				
P51353	Glue Stick 40gm Artline Purple	179		1	2.75	2.75
	•		_			

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	THE FOLLOWING ITEMS ARE AVAILABLE IF REQU	IRED - PAPER AI	ND DIVID	ERS		
P55709	Dividers Index A4 5 Tab (Board)	180		1	1.10	1.10
P50397	Lecture Book A4 140 Page Spiral	181		1	4.10	4.10
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	182		1	3.95	3.95
P56390	Loose Leaf Refills Reinforced A4 7mm Pkt 500	183		1	18.95	18.95
	THE FOLLOWING ITEMS ARE AVAILABLE IF REQU	IRED - PENS, PE	NCILS AN	ID HIGHLIC	HTERS	
P50186	Highlighter Marker - Yellow	184		1	1.60	1.60
P50113	Markers Faber Project Wallet 12 Assorted	185		1	3.60	3.60
P56094	Pen Ballpoint Cap Type Black Medium	186		1	0.35	0.35
P56095	Pen Ballpoint Cap Type Blue Medium	187		1	0.35	0.35
P56096	Pen Ballpoint Cap Type Red Medium	188		1	0.35	0.35
P50271	Pencil (HB) Goldfaber	189		1	0.65	0.65
P50208	Pencils-Coloured 12's Columbia	190		1	2.90	2.90
	THE FOLLOWING ITEMS ARE AVAILABLE IF REQU	IRED - OTHER				
P50154	Compass Maped Study SY120 Metal with Pencil	191		1	4.00	4.00
P52497	Earphones Earbuds Kids	192		1	13.25	13.25
P55522	Eraser Plastic Pencil Economy in sleeve	193		1	0.70	0.70
P51596	Maths Set Staedtler 10 piece	194		1	5.90	5.90
P56215	Pencil Case 340x170mm Tartan Jumbo	195		1	3.35	3.35
P56353	Protractor 10 cm 180 4" Half Circle	196		1	0.45	0.45
P50240	Punch Mini 2 Hole (Ringbinder) Assorted Colours	197		1	5.05	5.05
P56414	Ruler 300mm Plastic Clear	198		1	0.75	0.75
P50090	Ruler 300mm Wooden	199	$\overline{}$	1	1.10	1.10
P52610	Scissors 210mm Maped Essentials Green	200		1	3.90	3.90
P56240	Sharpener Pencil Barrel Single Hole (EL)	201	_	1	1.25	1.25
P52611	Stapler 26/6 24/6 Mini Blue/Black (Rapid)	202		1	8.00	8.00
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	203	$\overline{}$	1	14.05	14.05
	(Students must supply their own 8GB USB thumbdrive. An option	n has been provided a	above)			

Number of Boxes ticked:	
Postage (Home delivery	y only) \$8.00
ESTIMATED AMOUNT (PRICES CORRECT AT 05/	- n